i
I
T
Tl
P=ai
I

(B4 T 6 FETRAE 2 DHERD B REHS

JEAT Y5 ET JE R WA i/ N T UT /N7

- EBNE
1) FHI4 YRS S BT

2) JBATHIM 149 HF H 4% 64104 3H
E S T4 2H28H

3) BB

4) EHBNE

FEszdmd  H E TR R



i
I
T
Tl
P=ai
I

L | D06 FEIRSE X LU RS ¥ Fi WEFES
H H Jis )
THH - TfE - fiR) B & & #A A BN R
i P =y 1 4, 580, 949
TR & =y 1 2,076, 639
T ) 13 = 1 2,076,639 | VE3EEH
1 E
ik A

6.9 )1 (kmz
1)1 E BT = 5
40 W i
1) IR & [EEK e (1Ll
) 74 ZN
SRR g 0 39. 4m

FeSEREFE = 1 2,504, 310
R & 2V 1 60, 900 | TEZ£FfH
1 eSS
A e HE KL R = 1 2,443,410 | & A« B/ A&
6 T
H 2+ BRI R
33 T
ILim = 1 238, 950
i@ = 1 238, 950
AaE%E = 1 238,950 | 1A
1 =
B = 1 113, 841
[EREE 3 = 1 113, 841
fit R E = 1 23,841 | ek (GREE - {10E)

-1- FEszdmd  H E TR R



I}
o
Q/%L

=
=

L | D06 FEIRSE X LU RS ER i
H H
TEHH - LfE - R & #A BN
1 =
R e 2 90, 000 | FE-pi A ERL T
1 =
[EXERIIIEE =X 4,933, 740
GiEERIIEEE =X 3,516, 260
FhRR = 3,516, 260
il e Sy v 8, 450, 000

FEszdmd  H E TR R



